FUITIVE 3L TESR] %8 (RS

NO. 1 NO.2 NO.3 No.4
1(-3 0|3 0(-5 115
2 |11 2|-9 2 (13 2 |-12
3|1z 3|35 3|6 8|35
4 % 4 % 4 _% 4 %
5|4 5|3 5|4 5|12
6 |8z 6 |2x 6 |10x 6 |-2x
1 |5a+4b 1 |10a-6b 1 |-3a—4b 1|3a-11b
8 | 15— 45y 8 | -20x—12y 8 |30x+ 12y 8 | 21x+28y
9|a-b 9 |5a+19b 9 (11a-6b 9 |7a+14b
10| 63ab 10| —«¢8x? 10| 42xy 10|56ab
11|~y 11| 6x 11|-9a 11 -8y
12| 36xy 124 12| 28xy 125
13|22 +52+6 13|22 -7x+12 13| 2% +2x-24 13|22 —x-20
14) 22 —14x+49 14|22 +12x+36 14|22 -8x+16 14|22 +16x+64
15|22 -9 15|22 —64 15|22 -1 15|22 -49
16| (x~7)@+4) 16| (x+6)(x-5) 16| (x—3)x~4) 16| (@x+7)x~9)
17 (x+4)? 17| (x-5)? 17| (x+2)? 17| (x-6)?
18| (x+5)(x—5) 18| (x+ 7)(x—7) 18| (x+6)(x—6) 18| (x+9)(x—-9)
19 Jio 19| /35 191 J30 19 J6
100 J7 10] 2 10 /5 10| 3
21| 5/7 21| -3/5 21| 8/3 21| 4.2
22| 23 22| 3.6 22| -7J5 22| =37
23| J5 23| 52 23| J3 23| 6,2
24| 22 24| 5/3 24| 3/5 24| 57
25| 2-3/2 25| 5-2/5 25| 7-J7 25| 3+5/3
26| 5+2/6 26| 6-2/5 26| 7-2/10 26| 12463
27{ 2 27| 3 27| 4 21| 4
28| 4+2J7 28| 9-5/3 28| 8+5/2 28| —7-./5
29|x=3 29|x=4 29|x=-5 29|x=3
30(x=-2 30|x=—4 0({x=8 0({x=3
3@, )=@3,2 3@, »=@3,49 3| (@, y)=(@3,5) 3@, 9=@3,2
32| x,n=@2,3 32((x,»=05,-3) 32|, »=(5,3) 32|, =4,




